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The extra ingredients recently added to your 
bidding system will need time to soak in! You will 
get it wrong more times than you get it right, but 
we hope that at least you are recognising the errors 
that you make. An important step. 

During play you will still feel unsure and are 
probably still grabbing your aces straight away. 
In this unit you will be shown some standard ways 
of playing tenaces, and how it often pays  to duck 
early tricks in order to establish later tricks for 
your side.

The most important focus of this unit will 
be on how to PLAN your declarer play. This 
requires you to switch your perspective from 
looking only at your own hand, to considering 
the playing strength of the combined 26 cards.
  
Retaining communications between the two hands 
is another important consideration. Additionally 
you need to recognise whether one of the opponents 
hands poses a particular threat to your contract, and 
ZKHWKHU�D�WZR�ZD\�¿�QHVVH�LV�SRVVLEOH�WR�NHHS�WKH�
danger hand off lead. 

Be sympathetic to outsiders who keep telling you 
that "It's only a game of cards." 
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 ETHICS DURING DUPLICATE BRIDGE
The only real way to improve your game is to play against better players in a club duplicate.
Ethics during play are just as precise as during the auction.
Always count your cards.   Always check your hand with the curtain card, and then replace the curtain card in the 
board.   It is impolite to start bidding before your opponents have done this.

DURING PLAY
Leave the board in the centre of the table.
You can alert partner to a wrongly placed quitted card only, but
only before play to the next trick has begun.

Never get your card out until it is your turn to play!

FACIAL EXPRESSIONS/SIGHS & OTHER BODY LANGUAGE
Try not to show any emotional reaction during the play.  
Keep a 'poker face' even when partner doesn't  play the suit you want. 
An expression can either tell the opponents where cards lie, or  give them just cause for calling the director for 
giving unlawful information to your partner.  Either way, you lose.
Don't  hesitate when you have only one card in the suit led. This is cheating and not part of the game.  

As DECLARER always ask for the card you want from dummy. 
Never reach for it yourself, (unless dummy has gone to the toilet, or to buy a pint! 
Do not look at your partner's curtain card, while the hand is being played.

As DEFENDER 
Play in tempo by being prepared for what declarer might play. 
You are now permitted to enquire of partner "Having none?" when they discard or trump a suit  that is lead.  
This is to prevent a revoke.   The wrongly played card becomes a penalty card. 
�3HQDOW\�FDUGV�DUH�OHIW�IDFH�XS�DQG�PXVW�EH�SOD\HG�RU�OHG�DW�WKH�¿�UVW�OHJDO�RSSRUWXQLW\��

As DUMMY 
The only time you may speak is to try and prevent, declarer, from revoking or playing from the wrong hand.  If 
the error has occurred you must remain silent.  You can also inquire - "Having none?" 

CLAIMS
As an inexperienced player, it is wise, to play out the hand, no matter how obvious the play may be.
Once a claim is made, play stops and cannot be restarted!

ALL PLAYERS  
If a revoke or any other infringement is observed by declarer or either defender, the director should be politely 
called immediately.  Do not attempt to sort out the problem yourself. 
$W�WKH�HQG�RI�HDFK�KDQG��VKXIÀ�H�WKH�FDUGV�EHIRUH�UHWXUQLQJ�WKHP�WR�WKH�ERDUG�
Do not  look at the opponents' curtain cards.

SCORING
,I�\RX�DUH�QRUWK�\RX�PXVW�¿�OO�LQ�WKH�VFRUH�RQ�WKH�WUDYHOOHU�RU�RSHUDWH�WKH�
%ULGJHPDWH
���
6FRUHV�DUH�RQ�WKH�EDFNV�RI�WKH�VSHFL¿�F�ELGGLQJ�FDUG�
If you are sitting east/west you MUST check the score carefully, before leaving the table.  
Most club scorers penalise both pairs for scoring errors on a board.  

East should wait until declarer has 
played either the ace, queen  9 or 
4, before taking out the card that 
they will play.
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INFERENCES 

Against suit contracts
 

���� 7KH�SOD\HU�ZKR�VWUXJJOHV�WR�¿�QG�DQ�RSHQLQJ�OHDG��RU�ZKR�PDNHV�D�QRQGHVFULSW�OHDG�DJDLQVW�D�VXLW�� �
 contract does not have a holding such as A-K,  K-Q,  or Q-J of the suit led.

2.  The opening leader will not have the ace of the suit led when he leads a small card.

3.  The lead of a high card will probably deny holding an honour in that suit.
      It may be a doubleton, singleton, MUD or 2nd highest of a four card suit.

4.  A trump lead suggests that trumps will break evenly

Against NT contracts

1. If the opening leader does not lead the top of a sequence he is unlikely to hold one. 
 Missing honours may be split between both defenders.
2.  The lead of a small card will be from longest and strongest suit with one or more 
 non-touching honour cards, but not a sequence of three.
3.  The lead of a 2 is likely to be from a four card suit. (4th highest.)
4.  The lead of a high card (not an honour card)  will be either 2nd highest 
 of a long suit or a MUD lead (middle up down) and will not promise an honour.

 
If  there has been some bidding by the opponents, you can consider that:

���� $Q�RYHUFDOOHU�XVXDOO\�KDV�D�¿�YH�FDUG�RU�ORQJHU�VXLW�
2.  A  jump overcaller usually has a six card or longer suit.
3. A takeout doubler is likely to be short in the suit doubled.
���� $��WDNHRXW�GRXEOHU�LV�XVXDOO\�VKRZLQJ�D�IRXU�FDUG�UDWKHU�WKDQ�D�¿�YH�FDUG�PDMRU�
5. An opening bidder will show the shape of the hand on the rebid.
6.  A pre-empter generally has seven cards in his suit and will have shortages elswhere.

Many auctions describe the relative strengths of each of the opposing hands.

 An opponent who has;
����� RSHQHG��17�KDV�D�EDODQFHG�KDQG�ZLWK�� � � �����
�� UHELG��17�KDV�D�EDODQFHG�KDQG�ZLWK�� � � �����
�� UHVSRQGHG��17�KDV� � � � � ����
�� UHVSRQGHG�ZLWK�D�VLQJOH�UDLVH�RI�SDUWQHU
V�VXLW�KDV�� ����
�� UHVSRQGHG�ZLWK�D�MXPS�UDLVH�RI�SDUWQHU
V�VXLW�KDV��� �����LVK
�� SDVVHG�KLV�SDUWQHU
V�VXLW�ELG�KDV� � � � ����
�� SUH�HPSWHG�XVXDOO\�KDV�IHZHU�WKDQ� � � ��

Hesitations 

It is completely forbidden and quite unethical to try to fool your opponent, by hesitating before playing a card - 
when you have no reason to pause. e.g. when you have a singleton. Therefore if an opponent DOES hesitate, it 
is because s/he HAS something to think about.  You are entitled to take inferences from any such hesitation.
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Making a plan as declarer in a NT contact.

NEVER play to trick 1 before you have looked at the relationship between your hand and dummy. 
Work through each suit in turn counting top tricks and noting potential problems.

There may be communications issues. (Getting from one hand to the other)
There may be a suit which is prone to attack by one of the defenders. e.g. K32
7KHUH�PD\�EH�XQEORFNLQJ�LVVXHV��¿�QHVVHV�WR�EH�WDNHQ��VXLWV�WR�EH�HVWDEOLVKHG�RU�KROG�XS�SOD\V�UHTXLUHG��
Make your plan now BEFORE you play to trick 1. 

DO NOT MAKE IT UP AS YOU GO ALONG!
Count winners. (winners are top tricks that you can win without giving up the lead).
Look for ways of establishing additional tricks if needed.
&RQVLGHU�WKH�VQDJV�DQG�GLI¿�FXOWLHV�VXFK�DV�D�ODFN�RI�HQWULHV�WR�GXPP\�
Consider any opposition bidding which might suggest where missing high cards are. 
Consider the meaning of the opening lead. Slow your game down!
.                                                                                                                                                        
In each of the following examples the contract is 3NT by south.  
Count the winners in your hand and dummy  in each suit and total the winners. 
If you have not enough winners to make your contract  (nine tricks) say how many extra tricks you need. 
Decide on an appropriate technique to make your contract.  Are there any dangers?            

PLANNING THE PLAY - COUNTING WINNERS

�

� { 7 2  
� x A J 7 6 
� z A 9 3 
� y A Q 4 2

� {  A 8 6  
� x  K Q 9 
� z  K 6 4 2
� y  J 7 3 

How many top tricks?

{ ....... x ....... z ....... y .......

Extra tricks needed ..............

DANGER? 
The only danger is that west has 5 
VSDGHV�DQG�WKH�FOXE�¿�QHVVH�IDLOV�

SOLUTION
Duck two rounds of spades
(Rule of 7) 
Then�¿�QHVVH�ƅ-��LQWR�WKH�KDQG�WKDW�
will be out of spades, unless they 
break 4-4 where you would lose 3 
spades and a club

� { 9 8 5 
� x 10 7 6 
� z 7 6 4
� y A K J 3

� { K Q J 
� x A J 9 2
� z A Q 5
� y Q 4 2

How many top tricks?

{ ....... x ....... z ...... y .......

Extra tricks needed ..............

DANGER?
You can only give the lead 
away once

SOLUTION
Win and immediately establish 
two spade winners. If opponents 
duck twice, run for home!

� { 7 6 5  
� x 8 6 
� z K Q
� y J 10 9 8 7 6

� { A 10 8 3 
� x A 4 3 2
� z A 2  
� y A K Q

How many top tricks?

{ ....... x ....... z ...... y .......

Extra tricks needed ..............

DANGER?
The only danger is that you 
FDQQRW�UHDFK�WKH�¿�YH�FOXE�WULFNV

SOLUTION 
:LQ��ZLWK�Ƈ$���127�Ƈ.�
DQG�LPPHGLDWHO\�XQEORFN�ƅ$.4
*HW�WR�GXPP\�ZLWK�Ƈ.�DQG�WDNH�
all your top tricks.

{Q 
lead

zJ 
lead

zJ 
lead

3NT 3NT 3NT

1RQH�RI�WKHVH�KDQGV�DUH�GLI¿�FXOW�EXW�all hands needs this methodical approach before you play to trick 1.
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{ 972
x Q63
z A7
y AKJ105

{ Q103
x 987
z QJ1092
y 87 

{ AK65
x A542
z K54
y 42

{ J84
x KJ10
z 863
y Q963

'ESTABLISHING'  TRICKS  in  NTs

{ J10964
x 1097
z K84
y A8

3NT

{ A3
x AJ5
z A9652
y�754

{ KQ5
x K43
z Q3
y QJ1092

Beginners often make the mistake of 'cashing' their aces and kings before thinking 
about where the remaining tricks are coming from.  
Experienced bridge players count how many certain winners they have off the top 
BEFORE playing to trick 1.
Here you are south in 3NT and the yQ is led.
<RX�QHHG�QLQH�WULFNV���7KH�RSSRQHQWV�QHHG�¿�YH�WR�
set the contract'.

Can you recognise three tricks in hearts, two in diamonds and two in clubs?
That is seven tricks  in aces and kings.   You need two more!
Where will they come from, and when will you play that suit?

{  872
x��Q86
z  J1072
y  K63

3NT

Again 3NT by south. zQ led.

This time you can see seven certain tricks 'off the top'.  Two spades, 
one heart, two diamonds and two clubs.  The other two will come from 
clubs.

So how do you play the hand?
,I�\RX�ZRQ�WKH�¿�UVW�WULFN�ZLWK�WKH�zA, 
and played yA  yK and yJ  you're down!   Why?

The zA is your ONLY entry to dummy outside of the club suit. 

SOLUTION|
After winning with the z.���\RX�VKRXOG�¿�QHVVH�WKH�yJ.
Although this loses, your remaining clubs are all winners!  

This time you can see all four hands.  
The bidding should be straight forward to you now.  
It was: 1NT from south (12-14) 3NT from north (13+ and no major)   
West made the standard lead of the {J. (Top of sequence)

You can count three spade tricks, two hearts, and one diamond?     
You need another three to make your contract!
You must make these extra three tricks from the club suit, by 
establishing the y10, y9 and y2 as tricks.
As before, you must do this immediately while you still have good 
controls in each of the other suits.

So, win with the {A and play the y4 to yQ. This will lose to the 
yA and west will return another spade.  (He is trying to establish his 
spades as winners.)  Win the spade return with {K and play the yJ.  
East will win and play his last spade for his partner.  
You will win with the queen and run off your  three established club 
tricks, before cashing your xA and xK and your zA.   

Because you can give the lead away twice the extra tricks will come from the {9 & {10, and you must play 
WKH�VXLW�LPPHGLDWHO\�ZKLOH�\RX�VWLOO�KDYH�FRQWURO�RI�WKH�RWKHU�VXLWV���,I�\RX�JUDE�\RXU�DFHV�DQG�NLQJV�¿�UVW���WKH�
opponents, as soon as they get in with the ace of spades,  will take their winning queens and jacks, in hearts, 
diamonds, because you no longer have control of these suits!

{ 9652
x K84
z A53
y A92
3NT

{ QJ10
x AQ3
z K64
y K863

Its a race!

to establish your clubs 
before they establish 

their spades.

yQ lead
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Making a Plan (in a suit contract).
In a suit contract, if your tricks are not 'off the top', count the tricks that you are likely to lose.
If your objective is to make 4{  �DQG�\RX�FRXQW�IRXU�ORVHUV��\RX�PXVW�¿�QG�D�ZD\�WR�HOLPLQDWH�RQH�RI�
those losers in order to make your contract.

Counting losers
�� 6WDUW�E\�ORRNLQJ�DW�WKH�FRPELQHG�KROGLQJ�RI�HDFK�VXLW�LQ�WXUQ�
�� )RFXV�RQ�GHFODUHU
V�KDQG��WKHQ�ORRN�WR�VHH�LI�LI�GXPP\�FDQ�FRYHU�\RXU�ORVHUV�

'XPP\���4������������ 1R�ORVHUV��5HPHPEHU�WR�SOD\�\RXU�KRQRXU�IURP�WKH�VKRUW�KDQG�¿�UVW��L�H��WKH�TXHHQ
Declarer:  AK3

Dummy:  8754  Declarer has only two low cards in the suit, 
Declarer:  32  Dummy has no winners either, count 2 losers in this suit. Remaining two can be ruffed.

Dummy:  KQJ  Declarer has three losers.  
Declarer:  942  Dummy has a sequence of high cards only missing the ace. Together = 1 loser.

Dummy:  J843  Missing the ace, king and queen = 3 losers.

Declarer: 10972

{ A Q J
x A Q 5 4
z K J 4
y A K 8

{ 5 4
x K J 8 7 3
z A 5 2
y 9 5 4

{ K 4 3 
x A Q 2
z 6 4 3 2
y J 10 7

{ Q J 10 8 7 6
x 6 3
z A K
y Q 4 3

Counting losers in a deal
The contract is 4{  so you can only afford three losers.    zQ lead

Count your losers
Spades:  ace is missing  1 inevitable loser between the two hands. 
Hearts:  king is missing    1 potential loser   
Diamonds:     0 losers
Clubs:   ace & king missing 2 inevitable losers

The total is 4 losers - one more than you can afford.  Plan your play!

Win z$�DQG�SOD\�WUXPSV�LPPHGLDWHO\���3UHWHQG�WR�¿�QHVVH�{J and hope the defender 
with the {$�GXFNV���7KH�RQO\�KRSH�IRU�\RXU���WK�WULFN�LV�D�VXFFHVVIXO�¿�QHVVH�RI�xQ.

The contract is 6x You can only afford 1 loser.     Lead yQ
How  many losers do you have?

Spades � king is missing   1 loser between the two hands. 
Hearts      0 losers
Diamonds queen is missing 1 loser
Clubs    queen  is missing 1 loser     
The total is 3 losers - two more than you can afford.  Plan your play!

Win yA, get to hand with xK, Finesse {Q. If it works return to hand and repeat 
WKH�VSDGH�¿�QHVVH��7KURZ�y4 on {$��,I�VSDGH�¿�QHVVH�ORVHV�\RX�ZLOO�VWLOO�WKURZ�y4 
on spade winner, but will need z-�¿�QHVVH�WR�ZRUN�IRU�\RXU�WZHOIWK�WULFN�

PLANNING THE PLAY - COUNTING LOSERS
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J98
J10643
2
K1098

When dummy is faced - 

�� 'R�QRW�FRPPXQLFDWH�\RXU�IHHOLQJV�WR�WKH�RSSRVLWLRQ��
�� &RXQW�KRZ�PDQ\�WRS�WULFNV�\RX�KDYH�LQ�DFHV�DQG�NLQJV�HWF��ZRUNLQJ�WKURXJK�HDFK�VXLW�LQ�WXUQ�
�� ��VSDGHV����KHDUWV�DQG���GLDPRQGV� �WHQ�WULFNV��7KLV�VKRXOG�EH�HDV\��
          What can go wrong?  The  contract is  'laydown'.  As long as you draw trumps immediately.

Wrong play!  Suppose that you decide to take your xA, xK and xQ  immediately! 
West ruffs the xQ� and leads a second diamond. 
East ruffs and plays a club to west's yA�. 
Another diamond is ruffed by east who then cashes his yK�
Partner may not be pleased that you have gone two down in an 'ice cold' contract!
The main purpose of drawing or removing the enemy trumps is to stop this kind of thing happening.

  PLANNING THE PLAY IN SUIT CONTRACTS

Draw trumps! 

In a No Trump contract it is usual to count your 
immediate winners.  In a suit  contract IF you do not 
have enough winners you then count your losers.  
Can you recognise that there are 3 losers in this 4{ game? 
Two clubs and one diamond. 
You have 10 winners - enough for your contract! 
It is usually correct to take out your opponent's trumps 
before they can ruff tricks that should be rightly yours.  

Their small trumps should not be taking tricks which 
you expect to win with your aces and kings.  If you have 
high cards outside the trump suit, and especially if that 
side suit is long and solid, you should draw trumps as 
early as possible.

A763 
Q98 
AK5
J65

KQ542
AK5  
963 
73

10 
72
QJ10874  
AQ42

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

4{ by 
south

4{

zQ Lead

{ K962
x KQ5
z K863
y J4

{ A873
x 982
z�5
y AKQ105

Sometimes you shouldn't take out ALL of the enemy trumps 
 
The general rule, is that if the defenders still hold one trump, and it is the highest 
trump, leave it, and play off top side suit winners until the defender has to use his top 
trump to ruff.  
Otherwise it is two of your trumps for one of theirs!

Trick 1.   Win the club lead with the jack . (Honour from the short hand)
Trick 2.   Play towards the ace of trumps.
Trick 3.   Play towards the king of trumps.

If both defenders follow suit  the only remaining trump is the queen.    Leave it!
Play y4 to the yA. and keep playing clubs until the defender ruffs. (Throwing two 
losing diamonds and a heart)
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FAST/SLOW LOSERS

                                
J 9 6 3           10 8 5 2
A K                      Q J 9 4
K 7 6 2            A Q J
K 8 4             A 2

Contract 4{  Lead yQ How many losers? ...............................

Fast losers?.................. Slow losers?       ...................................

Do you draw trumps immediately ?............................................

NEW CONCEPT - FAST LOSERS & SLOW LOSERS.

Fast  losers are tricks that opponent's can win as soon as they get on lead.
Slow losers are tricks that opponents can take only when they have removed your guard in that suit.
e.g. West       East     West      East
       x�975      x�J63  =  3 fast losers   x�975      x�A63  =  2 slow losers.

In the 2nd example your losers are protected by the ace.  When opponents 'get in' they cannot cash their two 
winners. They have to knock out your ace and get in a 2nd time before they can cash their two winners. 

In a suit contract, sometimes you have to get rid of a loser before drawing trumps.  

Why?....................................................................................................................................................................

Why?..........................................................................................................................................................

Why?...................................................................................................................................................................

Q 10 7 6 5       J 4 2
K 5          A Q 9
9 8 6         A 5 3 2
A K 6                   Q 7 4
 

Contract 4{  Lead   zK      How many losers?   .................

Fast losers?  .................     Slow losers?   .........................

Do you draw trumps immediately ?          ..................................

Why?...................................................................................................................................................................

.............................................................................................................................................................................

    K J 4 3 2    A Q 7 5
     9 7 5         A 6 4
    Q                 10 9 6
    A Q J 2         K 8 4

{
x
z
y

{��
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

K J 5 4 3          Q 10 9 8
A 10 2               9 7 5
Q 8 5                K 6
A 5                 K Q 9 2

{
x
z
y

{
x
z
y

{
x
z
y

West   East   

West   East   

West   East   

West   East   

Contract 4{  Lead���xK How many losers? ................................

Fast losers?.................. Slow losers?       ..................................
.
Do you draw trumps immediately ?............................................

Contract 4{  Lead xQ How many losers? ...............................

Fast losers?.................. Slow losers?       ...................................

Do you draw trumps immediately ?  ...........................................
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CARD COMBINATIONS FOR DECLARER
Establish  tricks in a single suit by forcing out your opponents' high cards.

�� (VWDEOLVK�WULFNV�HDUO\�ZKLOH�\RX�VWLOO�KDYH�FRQWURO�RI�WKH�RWKHU�VXLWV��
�� 'R�QRW�EH�DIUDLG�WR�JLYH�XS�WKH�OHDG�

a) How many tricks do you expect to make looking at south's cards and those in dummy? 
b) How many  times will you have to give the lead away before you can enjoy your winners?
 
 KQJ10   J1098     K3   K1075

 7642   5432     Q7      QJ4

a.) .......   .......   .......   .......  

b.) .......   .......   .......   ........

Developing tricks through length : The potential of small cards
 
When you hold the majority of the cards in a suit, low cards will take tricks when the opponents have run out of  
the suit. Missing cards usually divide as follows:   
even number - unevenly   e.g. 3-1,  4-2,  
odd number - as evenly as possible   e.g. 2-1,  3-2,  4-3
Holding the following cards playing in a NT contract
a) How many certain tricks.  b) The maximum number of  tricks possible. 
c) How the missing cards must divide  in order to make  the maximum number of tricks.
      
 AKQ4            AK873   AK32   AK432           AQ432

 542             Q42   7654      876   65

a.) .......   .......   ......   .......   ........
   
b.) .......   .......   .......   .......   .........  
 
c.) .......   .......   .......   .......    ......... 
 
Entries. Once established, can you get to your winners?
How would you play these suits assuming no outside entries to dummy, but plenty of entries to hand?

 KJ1075   AJ932   KJ654   A9832            AQ654

 
 AQ   Q10   1092      654              K10

Trick1   .......&.......  .......&.......           ........&.......           .......&........       .......&......

Trick2   .......&.......  .......&.......           ........&.......           .......&........       .......&......
.
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KJ54        

 A32

PLAYING TENACES

If you need all four tricks, players will tackle this combination by cashing the ace and 
WKHQ�¿�QHVVLQJ�WKH�MDFN��
This will produce four tricks when west holds Qxx precisely.  (only one time in six.) 

If you only require three tricks and prefer to keep east off lead, 
the correct play is the king, and low to the ace, and then back towards the jack. 
It works: 
when the outstanding cards break 3-3, when west has Qxxx, and  when the east holds Qx.

$�¿�QHVVH�LV�D�VWUDWHJ\�WR�
FDSWXUH
��
honours held by the enemy.    
It is achieved by playing  towards your tenace. 

In this example if west holds the queen 
RQ�QR�ZRUVH�WKDQ�D�����EUHDN��ZH�FDQ�PDNH�DOO�¿�YH�WULFNV�

Play the 6  towards the jack. If 
it wins return to the south hand 
in another suit and repeat the 
¿�QHVVH���
Which card should west play at 
trick 1?

Q1052 

AK64 

This will catch Jxxx 
if held by west

AQ4       

J32

AQJ        

432

A42       

QJ3

Can any of these three layouts produce three tricks?

1. IF you can get to south twice and west holds the king.
2. Only if west holds Kx
3. Not possible on normal play

 

Play the king then 
¿�QHVVH�WKH�MDFN 

K875 

AJ64 If west has Qxx  
you make all four tricks

When we have honours in both hands it is sometimes less obvious how  we should  play the suit.
One principle is to keep the tenace intact by playing off ZLQQHUV�LQ�WKH�RWKHU�KDQG�¿�UVW���KDQGV�c and d)

A1053 

 KQ64 If east has Jxxx 
you make all four tricks

  A875 

K1064 

Play the ace and
¿�QHVVH�WKH��� 

Not so obvious but K 10 is 
the nearest to a tenace

If west has Q9xx, when east 
drops the jack, you can make all 
four tricks by running the 8.

AKJ103

   652

Play the ace &  king 
WKHQ�¿�QHVVH�WKH����� 

Play the king 
DQG�TXHHQ�¿�UVW��

Q984           7   

A tenace is two non-touching honours!    e.g. K-J,  A-Q,  A-10   etc.

a b

c d

W W W

W
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Dummy

Dummy

Dummy

A43
J6
AJ1032
K74 K7

10943
Q98
Q1052Q62

AK52
64
A863

J10985
Q87
K75
J9

PLAYING FOR SPLIT HONOURS 

When there are TWO honours 
missing you should mentally place 
ONE with each of your opponents.
Play low on {J lead. 
{K wins and  {7 returned
Win {4�DQG�¿�QHVVH�zJ losing to zQ. 

:LQ�WKH�KHDUW�VZLWFK�DQG�¿�QHVVH�
z10, playing for west to hold the 
other honour (zK) When diamonds 
also break 3-3, you’re home.

S W N E
1NT P  3NT

AQ65
987
Q843
A84 98

K6532
J10
9653K10743

A4
A52
K72

J2
QJ10
K976
QJ10

ACE & QUEEN IN OPPOSITE HANDS 

<RX�KDYH�¿�YH�WRS�VSDGHV��RQH�KHDUW��
two clubs and one diamond.
One trick needed but there is no 
IXUWKHU�UXI¿�QJ�SRWHQWLDO�

7KH�GLDPRQG�¿�QHVVH�LV�\RXU�RQO\�
chance for the 10th trick. 
Play zA and then low to the queen. 
The zK with west gets you home.

Lead   {J

E S W N
P 1{ P 3{
P 4{

Lead  xQ
 xJ
3rd heart ruffed

52
J64
AKJ2
A652 A1074

K1092
1074
94KQ63

A83
Q863
K8

J98
Q75
95
QJ1073

LEAD TOWARDS HONOURS

You have 7 top tricks. 
IF {A is with east you will make {K 
AND {Q.
At trick 2, play {5 immediately to {K.  
If it holds, play a diamond to dummy 
and lead towards your {Q.
There is no other play available!

If east rises with the {A immediately 
it takes all the pressure off declarer.
How kind!

S W N E
1NT P 3NT

Lead     yQ

Win with yA
(because you cannot 
afford a heart switch!)

AQJ10
1083
975
K64

K875
972
1082
QJ104

AKQJ6
643
A982

9632
54
AKQJ
753

W N E S
P P P 1x
P 1{ P 2y
P 3x P 4x

RUFFING FINESSE.

West originally passed and has 
shown up with 10 pts. 

West CANNOT have {K. 

After drawing trumps, play {A and 
then {Q. 
If east plays {K, ruff and return to 
dummy with yK. Throw losing clubs
on {J & {10.  If east doesn’t cover, 
throw losing clubs.

Lead  zA
 zK
 zQ

Dummy

{
x
z
y{

x
z
y

{
x
z
y

{
x
z
y

{
x
z
y{

x
z
y

{
x
z
y

{
x
z
y

{
x
z
y{

x
z
y

{
x
z
y

{
x
z
y

{
x
z
y{

x
z
y

{
x
z
y

{
x
z
y

  FOUR VARIATIONS ON THE FINESSE 
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Declarer needs to think!

Your only entry outside of clubs is {Q . 
Do not win a cheap trick with {10! 
Win with {A  and keep playing clubs until 
the ace is played.  
With two small spades, west cannot stop 
you getting into dummy!

Q74
106532
63
A95

K983
J8
KJ974
82

AJ102
AKQ
A108
Q63

65
974
Q52
KJ1074

Declarer needs to think!
Top tricks = 5   (After the lead = 6)
Clubs is the suit on which you should 
focus.
Problem. Limited entries to dummy.

Solution  4th highest lead places all 
high diamonds with west. Do not try 
for a cheap trick by winning with z10
Win trick 1 with zA. 
This will create zQ as entry even 
when east correctly holds up yA until 
3rd round.

S W N E
2NT P 3NT

Lead z7  (4th highest.)

(Ask RHO “What is your lead 
style”?) DO NOT ASSUME that 
it is 4th highest.

(West defender must give a hi-
lo count signal when declarer 
leads clubs.)

K96
Q85
K842
642

Q87
107432
J96
A5

52
K6
753
QJ10983

AJ1043
AJ9
AQ10
K7

Declarer needs to think!

Top tricks = 4
Clubs is again the suit on which you 
should focus.
Problem. Limited entries to dummy.

Solution  Do not try for a cheap trick 
by playing xJ or x9. IF you do, your 
only entry to the clubs is removed and 
you cannot make your contract!

N E S W
1{ P 1NT P
3NT

Lead  x3

(Ask RHO “What is your lead 
style”?) DO NOT ASSUME that 
it is 4th highest.

Dummy

Lead {7   (4th highest.)

(Ask RHO “What is your lead 
style”?) DO NOT ASSUME that 
it is 4th highest.

West with no outside entry 
should duck ƄK. Now when 
east gets in he can lead his 
3rd spade to west.

54
A87
KQ62
AJ83 Q93

Q10
J8743
Q104

KJ2
K542
A5
K652

A10876
J963
109
97

S W N E
1NT  P 3NT

Declarer & defender need to think!
Recognise immediately that you need 
WR�¿�QHVVH�FOXEV�LQWR�HDVW�
You must duck ƄQ at trick 1.

When spades are returned, play the ƄK 
and hope that west wins with ƄA and 
plays a 3rd spade.

1RZ�ZKHQ�\RXU�FOXE�¿�QHVVH�IDLOV��HDVW�
does not have a spade to play.

{
x
z
y

{
x
z
y{

x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

QJ10
987
107
KQJ109

63
Q1042
J932
A75A54

AK3
AQ64
842

K9872
J65
K85
63

S W N E
1z P 2y P
3NT

Lead {7  
but focus on club suit.

(West defender must give a hi-
lo count signal when declarer 
leads clubs.)

  SEEING ENTRY PROBLEMS 
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If your side suit is not 'solid',  e.g. yAK8765  opposite  y4  
\RX�PD\�KDYH�WR�HVWDEOLVK�WKH�VXLW�E\�UXI¿�QJ�

Here you have seven clubs to the ace king.    
The opponents have six!
After drawing two rounds of trumps, play the yA, and yK  
and then ruff a small club. If they break 3-3 you are home.   
They do!  When the outstanding trump is a winning trump leave 
trumps as you will be taking two of your tumps.

Now there are no more clubs,  you have winning tricks with  your 
established y7, y6, and y5. 

You will only lose one spade, one heart and one diamond.

1RUPDOO\�GHFODUHU�JDLQV�QRWKLQJ�E\�UXI¿�QJ�LQ�WKH�KDQG�
with long trumps but to do so is called  dummy reversal.
On this hand it is used to establish a winning heart trick.

  RUFFING  TO ESTABLISH SIDE SUITS 

1. Win with xK, 
2. Play x6� to xA, 
3. Ruff the x3 high (using {Q)
4. Play {4, to {A and then {K
��� x5  ruffed
'LG�\RX�QRWLFH�WKDW�\RX�ZHUH�UXI¿�QJ�LQ�WKH�KDQG�WKDW�KDG�
long trumps?
It is usually only the short hand that is making extra 
WULFNV�E\�UXI¿�QJ��

It is worth noting that when there are six cards missing, 
as in these two examples, they are more likely to break 
����UDWKHU�WKDQ�������������WR����� 

How many losers do you have?
The most realistic way of making this contract
is to set up the spade suit. 
A side suit does not have to be strong in honours 
to be useful. 
All you need is length and for the missing cards to divide 
3-3.
1 West wins {K and continues with z8
2 Win with the zA
3 Ruff {4
4 Play xK and low to the to the xA 
5 Ruff the {5
Now all you have to do is draw the remaining 
trump  and lead to the yA to take three established spade 
tricks.  In all you will make eleven tricks
three spades, six hearts and two minor suit aces.                  

4{ by 
south

4x
by south

{K�lead

4{  
by south.     

xQ  lead

{�K962
x KQ52
z K863
y 4

{ A875
x 98
z 5
y AK8765

{�J86543
x A4
z A53
y A6

{�A107
x 10
z Q942
y QJ843

{��
x KQJ8753
z J76
y 72

{�KQ2
x 962
z K108
y K1095

{�AK32
x A9532
z A9
y 95

{�76
x 84
z Q10742
y QJ107

{�QJ1054
x K6
z 853
y K62

{�98
x QJ107
z KJ6
y A843
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  CROSS RUFFING  

A863
KJ105
A865
3

  

NOTE.   * If east started with only two spades,  he could over-ruff your x7 with the x8.

4x by south.   
Lead zK 

You need ten tricks.  You can only lose three!

If you were to draw trumps immediately, in perhaps three rounds, 
you would have losers in clubs, diamonds and spades.

Trick 1.      Win with  the zA.
Trick 2.     Play the z2 and ruff with the x2.
Trick 3.      Play {A.
Trick 4.     Ruff the {3with the x6.
Trick 5.      Ruff the z5 with the x9.
Trick 6.      Ruff the {8 with the x10*
Trick 7.      Ruff the z9 with the xJ
Trick 8.      Ruff the {10 with xA
Tricks 9. & 10     After trying the doomed y.�¿�QHVVH��\RXU�ODVW�
   two tricks will be the king and queen of trumps.

Although it is usually correct to draw trumps, there are certain hands where it would be quite wrong to immediately 
take out trumps.  When you lead trumps, dummy must obviously follow suit, and therefore you use up two trumps 
every time they are led.

&URVV�UXI¿�QJ�
This means that you will ruff (or trump) losing tricks in both hands before leading trumps.
You are in fact making your trump tricks separately.

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

6x by south.   Lead {K You need twelve tricks.  You can only lose one!

You have four sure tricks outside the trump suit.
(zA, zK, {A and yA)

You need to make all of your eight trump tricks 
separately therefore  DO NOT LEAD TRUMPS.

Whenever you are about to embark on a cross ruff, 
you should FDVK�\RXU�RXWVLGH�ZLQQHUV�¿�UVW�

On this hand if you fail to cash your zA & zK 
the contract will fail because west will discard a diamond 
on the 3rd round of spades.  Unable to draw trumps south 
will later see one of his vital diamond winners ruffed.

{
x
z
y

KQ
7432
109
KJ1065

{
x
z
y

&DVK�\RXU�RXWVLGH�ZLQQHUV�¿�UVW�

5
AQ96
K32
AQ872

J109742
8
QJ74
94

7
A1076
AJ952
842

A1083
KQJ92
8
K73
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3NT by south   Lead {10.
(Top of internal sequence.)  
East correctly plays the queen and you 
win with the king.
Now you have only { J2.  
So which is the danger hand?  
Who has the {A? 
The spade suit is your problem again . 
Which hand must you keep 'off lead'?

When dummy goes down in NT contracts you should stop  to  consider the dangers to your contract.
    

RECOGNISING THE DANGER HAND 

432
653
842
KJ32

K5
AKQ
AKQ5  
A1094

Look at the spades again!

{ 43

{ KJ2
�{ A10987  ����������{Q65

43
AK65
AKQ  
AJ86 

KJ2
432
432
K432

{ 43

{ KJ2

�{ A10987  ���������{ Q65

If east gets on lead, she will lead the {7 and 
whether you play the king or the 5, 
you will lose six spade tricks.  3 down!

But if west is on lead, you are safe because, 
although west can take the {A, your king 
stops them from taking any more.

Finesse clubs into west, the safe hand.  
Play low to the yK�and then run the yJ.  
If this lost, your king would be safe as long as 
west is on lead.

It would be completely wrong to simply play 
off your yA and yK in case east had yQxx.

After the spade lead and winning with {K, 
you have only the {J2   
West must have the {A because east  would  
have played it. (3rd hand high.)

So, if east gets on lead, he will lead the {6 
through your {J2 and west will take four 
spade tricks. Therefore you must run  your 
yJ into the west  hand. 

Even if this loses to the yQ, west cannot run 
his spade tricks.

On both of these hands you have what is 
called a WZR�ZD\�¿�QHVVH for the yQ.  
7KLV�WHUP�VLPSO\�PHDQV�WKDW�\RX�FDQ�¿�QHVVH�
into either hand.

If you can only� ¿�QHVVH� LQWR� WKH�GDQJHU� KDQG��
east, you must duck the {Q.��

On the return of the suit, play your {K which 
hopefully will be captured by {A. 
Your {J will win the 3rd round of the suit.   

Now when east gets on lead, he will not have a 
spade left to return to west's hand. 

43
AK86
K92  
AJ94 

KJ2
43
A43
K10532

3NT by S. after west had opened 3{.   
Lead x5
In this hand you can count eight top tricks.  
$�¿�QHVVH�LQ�FOXEV���HYHQ�LI� LW�IDLOV���ZLOO�
give you your nine tricks.  So what is the 
danger?

Think about the spades!

Can you see the danger now?

����� { 432

���������
� {  K5

�{  AQJ10986 � �{  7 

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

Yes of course if west is an 'expert', s/he will 
duck the {K if there are no other entries to 
the west hand hand. 
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Count your certain tricks. 
Two spades
Two hearts
Two diamonds 
That is only six and you need nine.  
Where will the remaining three tricks come from?

The diamond suit seems to be your only chance, but if you play the zA &zK,  the zQ  
will win the next trick and you can no longer get back to dummy to enjoy the last three diamonds.

$QVZHU���7KH�RSSRQHQWV�KDYH�¿�YH�GLDPRQGV���
Providing they break 3/2 you will lose only one diamond.
It is vital that you lose that diamond  ¿�UVW�

Win with the {A.   
Then play z5  from your hand, and the z2  from dummy.
(All of the other three suits are safely stopped by your combined high cards.)
When you regain the lead play your z9 to the zA.
When you play the zK it will take out E/W 's last diamond and you can enjoy the anguish  
of your opponents as you make the three little diamonds and your contract.

3NT 

J65
Q1052 
Q63 
Q108

TIMING - Sometimes, two techniques are needed.

On this slightly altered hand you would again need to give 
XS�D�GLDPRQG�EXW�\RX�DOVR�KDYH�WR�¿�QHVVH�KHDUWV

Win with the {A.   
Then play z5 to zA  
Play x��DQG�¿�QHVVH�WKH�xQ  (which holds).
You will lose a diamond before they are established, so lose 
it now. Play z4 to z7 in dummy. 

Win the spade return with {K.

Now play to z5 the zK and run your diamond winners.  
)LQDOO\��¿�QHVVH�WKH�xJ.   

Your xA is the ninth trick. 

$�GLI¿�FXOW�OHVVRQ�WR�OHDUQ��LV�WKDW�\RX�VRPHWLPHV�KDYH�WR�ORVH�WULFNV�LQ�RUGHU�WR�HVWDEOLVK��ZLQQHUV���
In these situations, you must give up those tricks early in the play, while you still have control.

94 
J6
AK8742
J93 

AK3
AK9
95   
K7652

Q10872
8743
J10
A4

S W N E
1y Pass 1z Pass
2NT Pass  3NT

Lead {7 (4th highest)

DUCKING AS DECLARER

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

J65
K1052
J63 
Q106

943
86
AK872
J93

Q10872
9743
Q10
A4

AK
AQJ
954   
K8752

3NT 

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

3NT 
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RULE OF SEVEN 1.

But if you ducked the king,  and ducked the queen, taking the 3rd round,  the east hand will have no spades to 
return if he gets on lead.  If west has no immediate entry, she will never make her last two spade tricks.  
Simply add the number of cards in your hand and in dummy,  then deduct from seven.        

In the example above Axx + xx = 5 cards in the embarassing suit,    7 - 5 = 2.   
Therefore, duck twice.  (With six cards in their suit you only need to hold up once.)

Your best way of dealing with this problem is to cut their communications.  
In this example, after the obvious xK lead, if you were to win with the ace immediately 
the suit would be returned as soon as either defender got the lead. 

Q765
J9
KQJ42
65

3NT
Lead  
zK

AK102
A87
1086
K102

984
KQ104
A97
A87

J3
6532
53
QJ943

K52
K94
A97
KQJ8

Two diamonds in dummy and three in your hand   
2+3 = 5.    7-5 = 2.

Hold up your  zA  for  two rounds and 
if east has the �yA  your home!

If west has it --- 
be philosophical, you played correctly.

AQ109
A532
62
753

Three diamonds in dummy, and three in your hand.  3+3 
= 6.          7 - 6 = 1 

You only need to  hold up your ace for one round to cut 
east's communications from the long suit.  

If west started with only four diamonds, 
you don't mind losing three diamonds and a spade.  

Finesse the {9. 
When it loses to the jack, east returns a club. 
Win  with the yA,  and run the {8.

3NT
Lead  
z5

J643
J87
Q104
A109

87
Q106
KJ853
642

 xA93
 xKQJ10 6 x752

 x84

  The Rule of 7 tells you how many times to duck.

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

2FFDVLRQDOO\��\RX�ZLOO�¿�QG�\RXUVHOI�LQ�D��17�JDPH�FRQWUDFW�ZKHUH�\RX�KDYH�RQO\�RQH�VWRS�LQ�WKH�HQHP\�VXLW��
$W�VXFK�WLPHV�GHIHQGHUV�ZLWK�¿�YH�FDUG�VXLWV�DUH�D�QXLVDQFH�EHFDXVH��RQFH�WKH\�KDYH�IRUFHG�RXW�\RXU�VWRS��WKH\�ZLOO�
often win another four tricks in that suit. 
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RULE OF SEVEN 2.

Exception

The rule of  7, of course, is not a rule at all. 
It is a guide, and it should not stop you from thinking.  
Here is a hand where the rule of seven is not enough. 
It cuts communications if the suit breaks  5-2. 
If the suit divides 4-3, you will lose three diamonds and  you must lose two clubs,  before 
you have set up the rest of the club suit.  

The contract is 3NT.   West leads the z3. ( 4th highest.)    East plays the zQ.
 
Plan your play by answering the following questions

 K3
 A32
 854
 AJ973

 
AQ8
KJ54
A72
1065

A75
A86
AJ953
K7

  
K842
43
K104
A863

  1.)  How many top tricks do you have?
�������,V�WKH�OHDG�IURP�IRXU�RU�¿�YH"
  3.)  How many times do you duck?
  4.)  Which suit will provide the extra tricks you need?
  5.)  Which is the danger hand?

West has only four diamonds and east has three. 
You may have to give TWO club tricks away before establishing that suit.
<RX�ZLOO�PDNH�D�GRXEOH�¿�QHVVH�LQWR�HDVW�DQG�XQOHVV�\RX�KDYH�GXFNHG�TWO rounds of diamonds before running 
the y10,  east will win and return his last diamond to west giving E/W three diamond tricks.
By ducking twice, east may make two clubs to go with the defence's two diamond tricks, but your contract is safe 
as long as west cannot get on lead to make his 3rd diamond trick.
:KHQ�WKH��VW�¿�QHVVH�ORVHV��ZLQ�WKH�UHWXUQ�EXW�GR�QRW�VLPSO\�FDVK�y$��<RX�PXVW�¿�QHVVH�DJDLQ�ZLWK�yJ.
IF  
West plays either yK or yQ on your y10, win with yA. Defence can take three diamonds and a club.

South is in 3NT and the lead is x5��( 4th highest.)    You duck, and east plays xQ
Plan your play after east returns another heart.

  How many top tricks do you have?

  When will you play the ace of hearts?

  Which suit will provide the extra tricks you need?

  Which is the danger hand?

  How will you tackle the diamond suit?
{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y
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When you are  ¿�QHVVLQJ�IRU�D�TXHHQ� there is a saying,  'Eight ever - Nine never' 
,Q�SHUFHQWDJH�WHUPV�LW�RIIHUV�\RX�WKH�EHVW�FKDQFH�RI�¿�QGLQJ�WKH�TXHHQ�

,I���ZLWK�GXPP\����\RX�KROG�HLJKW�FDUGV�LQ�D�VXLW���WKH�GHIHQGHUV�KDYH�¿�YH�EHWZHHQ�WKHP���
These are most likely to break  3 - 2. (68%)  and the queen is more likely to be in the hand that holds three (40% 
DJDLQVW��������7KHUHIRUH�WKH�EHVW�FKDQFH�RI�¿�QGLQJ�WKH�TXHHQ�LV�RQ�WKH�����¿�QHVVH�

Alternatively if you hold nine cards in the suit,  the defenders have only four between them.
Now the odds slightly favour the queen being with one other card, and you should simply play the 
ace and king hoping to drop the queen.  

     A x x x 

     K J x x

With only eight cards play the     With nine cards play the ace and lead towards the
ace and ¿�QHVVH the jack.     king /jack tenace. If east follows low, play the king

Obviously this does not work every time, but unless you have safer plays available, or clues from the bidding or 
SOD\��XS�WR�WKH�SRLQW�WKDW�\RX�DUH�JRLQJ�WR�WU\�DQG�¿�QG�WKH�TXHHQ��IROORZ�WKLV�VLPSOH�UXOH���
It will work more times than not, and the rest of the room will play the suit this way. 

Here is an example where you would play it,                and one where you would not play it!

   

   3NT by south

   West leads x3.
   Taken by east with xK.
   East returns another heart.  

  8 EVER, 9 NEVER

In the 1st hand, you cannot afford to give the lead away so play zA  and zK from the top
The odds are just in your favour to pull in six diamonds, and three aces.  

In the second hand, you don't need six diamonds, so you would make a safety play.  
If the 8 ever 9 never fails, you will only make two diamonds because you have no other entry to the north hand.  
Play zA in case zQ drops singleton, then lead low to the z10. 

Do not play this, or any of these 'rules', blindly.   Plan the play of the whole hand. 

              A x x x x 

              K J x x

Why Not?Q5
A4
AKJ632
872

A842
Q6
1074
AQJ3

Q5
A4
AKJ632
872

A842
Q65
1074
AQ3

3NT  by south

West leads x3.
Taken by east with xK.
East returns another heart.  

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

IF you only need three tricks from this 

holding the safety play is - king 1st, low to 

the ace and then back to the jack.
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1. Plan the play 

in NT contracts.

3NT by east on the ƇK lead
How many top tricks?
How many times do you hold up your zA?
When on lead with zA which card do you play?
If this holds, what now?

AKQ3
A86
82
J764

{
x
z
y

95
KQ9
A63
KQ1052

{
x
z
y

AKQ3
J865
J2
J76

{
x
z
y

J975
KQ9
A63
KQ10

{
x
z
y

�Ƅ�E\�HDVW�RQ�WKH�ƇK lead

How many losers in {�........ x�........ z�........ y�........

When do you draw trumps? ....................................

�Ƅ�E\�HDVW�RQ�WKH�ƇK lead
Why do you not draw trumps here? ........................

....................................................................................

�Ƅ�E\�HDVW�RQ�D�GLDPRQG�OHDG
If all trumps were drawn you are likely to lose
a club trick to QJxx. How can you avoid this loser?

....................................................................................

How would you play to make four tricks in this suit?
....................................................................................
How would play this suit for two tricks?
....................................................................................
How would you protect your tenace?
....................................................................................

4Ɔ by east on the ƇK lead. 
:KDW�LV�VSHFLDO�DERXW�WKH�FOXE�¿�QHVVH�SRVLWLRQ"

....................................................................................
:RXOG�\RX�¿�QHVVH�LQWR�WKH�QRUWK�RU�VRXWK�KDQG"

....................................................................................

3NT by east on the x2 lead -xJ - xQ - xK
Would you duck a club into the north or south hand?

....................................................................................
CLUE - Look at your spade holding!
Which hand can do serious damage to your spades?

2. Plan the play

in suit contracts.

KQ832
J865
J72
5

{
x
z
y

J975
KQ
A63
AKQ10

{
x
z
y

AK103
Q8652
J72
5

{
x
z
y

QJ75
KJ
A
AK10764

{
x
z
y

3. Attempt to win 

tricks when 

opponents have 

higher cards

4. Use avoidance 

play after 

recognising the 

danger hand

5. Foresee

communication

problems

�{973  {�AJ1065

�{Q75  { A432

 {Q1075 { AK32

K32
AQ86
J72
K107

{
x
z
y

97
K10732
Q
AJ982

{
x
z
y

K3
AJ103
AJ75
K102

{
x
z
y

864
K4
Q92
A9764

{
x
z
y

   PLAN THE PLAY QUIZ
Dummy Declarer
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 N/S    E/W     Vuln.   Contract     By      Tricks         +              -         

1

2

3

4

5

6

7

8

600
620  
170
100
650
        100      
630
500

N
S
N
E
S
N
N
E

9
10
10
 7
11
10
10
7

3NT
4H
3H  
3S
4H
5H
3NT
4Sx

N/S

N/S

N/S

N/S

N/S

N/S

N/S

N/S

9
10
11
12
13
14
15
16

N/S 
Matchpoints

E/W 
Matchpoints

8        6
10   4
4  10
2  12 
14  0
0  14
12  2
6  8

DUPLICATE SCORING EXPLAINED
Playing in a duplicate bridge club situation, your score for every board is recorded on a travelling score sheet 
called simply 'The Traveller.' which is folded and tucked into the board or wallet.

North always complete the scores sheet. (+620 for E/W is therefore recorded as a -620 for N/S.)
The E/W pair must check and agree the score before moving to the next table.

Your score of +620, -50, +120, etc. on each board, is compared with the score of all the other pairs sitting in the 
same direction as you.  (NOT your opponents at the table.)

The normal form of scoring in the duplicate bridge club environment is through Matchpoints.

In Matchpointed scoring you get 2 for every pair you beat, and 1 for every pair with whom you draw. 

With 8 tables you are playing against 7 other pairs. Your maximum for each board is therefore 14. 
�:LWK����WDEOHV��\RX�ZRXOG�FRPSHWH�DJDLQVW���RWKHU�SDLUV��DQG�D�WRS�VFRUH�IRU�HDFK�ERDUG�ZRXOG�EH�����

Your score on each board is added together and the result is divided by the number of boards played.
This gives an overall average for each board and that average is expressed as a percentage.

Board 

In this sample score sheet there are 8 tables in play.

N/S pair 1 scored +600. This was better than the scores for N/S 3, 4, 6 and 8. They therefore score 8
N/S pair 2 scored +620. This was better than the scores for N/S 1, 3, 4, 6 and 8. They therefore score 10

N/S pair 1  bid and made their game but only get a slightly above average result
E/W pair 12 were two down in 3S but score 12/14 matchpoints. (a 2nd top)
1�6�SDLU��� KDG�D�GLI¿�FXOW�GHFLVLRQ��EHFDXVH�(�:�ELG�WR��6�ZKHQ�1�9���'RXEOH�RU�ELG��+"���:URQJ�
(�:�SDLU����� VKRZV�WKDW�\RX�FDQ�VDFUL¿�FH�RYHU�D�VDIH�YXOQHUDEOH�JDPH��
Even going three off doubled for -500 is better than opponents making a safe vulnerable game for 620.
  

Best score for N/S

Best score for E/W
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A2
QJ1054
964
 J85

862
K3 
K9752
 J82

AK
Q10864
843
 J74

1.     Which card must�\RX�SOD\�¿�UVW��IURP�WKH�VRXWK�KDQG�"���������������

A8
QJ96
J76
Q853

2.     Which card should you play?  ............    to the ?   .............

 What would you lead to 3NT ?    The bidding was 1NT - 3NT

3.        4.           5.              6.

          ........................                    ......................                        .........................                     ......................
You are playing in  3NT.   West leads the 4{ (4th highest)
   
    { Q 9 7 6

�

{ A 8 5

   REVISION QUIZ
A K Q 3 2
      
   J 5
A K J 10 2
   
   7 5 

Unblocking

Finessing

Leads

Card reading

Scoring

Terminology

Play

7. Which card do you play from dummy and why?  ............
8.  Who has the {K?  .................
9. How many tricks can you make from this suit?    ............
10. If east plays the {2  how many spades does west have?  ........ 

How many points would you score for playing the following N.V. contracts?

11.  4x bid & made. ....................   12.  4x bid and nine tricks are made.  ...........
13.  3NT bid & made with an overtrick.  ........... 14.  2x bid and made.                          ...........
15.  2x bid & made + two overtricks      ........... 16.  1NT with two overtricks.              ...........
   
�����:KDW�LV�D�
¿�QHVVH
"�����������������������������������������������������������������������������������������������������
18.  What is a 'tenace'?   ..........................................................................................     
19.  What is a 'jump shift '?  ....................................................................................
In discussion what is:   
20. Ace piece?  ................... 21.  Ace to three?  ........................    22. A bare king?   ................
23. King stiff?  ................... 24.  Two rags?       ........................         25. Jack to four?   ................

26.  As defender which card would you play from  A K Q if partner led the suit?   ............
27.  As defender which card would you play to win  with Q J 10 9 if partner led the 2?    ............
28.  As declarer which card would you play from A K in your hand,  if opponents led the suit? ...........

You are declarer in 3NT.  You win the opening lead with the {A.  

29. Which card do you play next? ..........................
30. Which card do you play from dummy?  ................

Declarer
AK32    
AQ9  ���
85
AK32

Dummy
5    
732  ���
AK9762
864�

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y

{
x
z
y
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ANSWERS TO QUIZ PAGES

ANSWERS TO REVISION QUIZ ON PAGE 22

1. {J
2. 7 to J
3. xQ
4. z5
5. x6
6. xQ
7. {6 East has no card higher than S4
8. West
9. Three
10. Five
11. 420
12. -50
13. 430
14. 110
15. 170
16. 150

ANSWERS TO REVISION QUIZ ON PAGE 20 .

1.  You have 7 top tricks
 Twice. (Rule of 7 to cut opponents communications)
 C2 to CJ 
 C7 to CK

2. {�0 x�1  z�1 y�1.
 Immediately

 {�1 x�1  z� y�0. 
 You have 2 fast diamonds losers if you surrender the lead to {A 
 Win zA and play yA. Throw z7 on yK and throw zJ on yQ

 Cash yA. With top trumps, ruff y4 with {A and y6 with {K.
 This requires trumps to break 3/2.

3. Run {9 (which will lose��5HJDLQ�OHDG�DQG�¿�QHVVH�{J

 Cash {A and lead low to {Q

 Cash {A and {.�¿�UVW�

��� <RX�KDYH�D�
WZR�ZD\�¿�QHVVH
�LQ�FOXEV���<RX�FDQ�¿�QHVVH�HLWKHU�ZD\��

 Finesse into the north hand to protect your {K. (y8 to y7)5. 
 Duck a club into the north hand. North cannot damage your {K

17. An attempt to win a trick with a card   
 that might be beaten by opponents.
18. two non-touching honours
19. a jump bid in a new suit.
20. Ax
21. Axx
22. K
23. K
24. xx
25. Jxxx
26 Queen
27. 9
28. K
29. z8
30. z2 


